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1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
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What is non primitive Data Structure? Explain each in brief.
Explain array with its operation and Advantage, disadvantage.

Give trace of conversion process of following infix string to reverse
polish expression. at+b*c-d/e*f
What is Circular queue? Write and explain algorithm to insert element in
circular queue.

OR
What is STACK? Write and explain algorithm for PUSH and POP
operation.

Write and explain algorithm to insert element in ordered singly linked list.

Write and explain algorithm to delete an element from doubly linked list
OR

Write and explain algorithm to insert element at the end of singly linked

list

Write a function in c/c++ to create singly linked list and explain it.

Give trace of Quick sort algorithm using following data
42,23,74,11,65,58,94,36,99,87
Write and explain algorithm for simple merge sort

OR
Give trace of radix sort algorithm using following data
42,23,74,17,65,57,94,36,99,87,70,81,64,222
Write and explain algorithm for binary search

Define binary tree? List operation on binary tree. Explain any one
operation in detail
Define following with necessary figure/example
Terminal node, sibling, level, non terminal node
OR
Explain list representation of binary tree with suitable example
Write a program with user defined function to copy a string sl in to string
s2
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